BREEEMOERRE (BE~A—X)
THM251 A#2ES (1,186 #6)]

ARAEF, BRESOARL T~ (BELES) £d &2, FH31IFE2A~FM2E 1 ARESIC
BT OREERADERKREEHEN—ATRYFEDHIEZIDTT,

E1RFILET FEF ROMLAICKYRAREBAERT 5 TEAFIBMEAME) 0L THS,

T2 THE] LF. BREEETEORBEMCLICHAT-HEZ LD,
I3 REEEAERAER= (REERROHE) /| (REEXROHIAEERROHE] + (REERXRROHUE])

BREAKRESESS
BRI EERETIL—T



BEEEMOERRTE (BEA—R)
(FRS1E2A ~HH2F1 AF2HED)

(%)
85
83.0
............ 8%.01
80 oooooooooooooooooooooooo .2
....................................................... ,'_.—’7 4'7 LT85
DI VRS BESSE B S s o B S R VI A
e 3ennerheres i aerncheneeDCeneadarennigoaaendesees CCRITL L e
75 P CITTY [TTNS vANPPS IRREE Hoeooor® @ X X X
e [ SRR IR
" oo ol o EURFHAFE
ZNJN
ceeXeoe FIR
| |
FER3145E SHTE L2
25 3H 47 5H 61 ! 8 H 9H 104 114 124 14
(BAf1:%)
2 A 3 A 4 A 5H 6 H 7H 8 A 9 H 10 H 11 A 12 A 1H
EEREE 775 77.7 77.8 78.0 78.1 78.4 78.6 78.7 79.1 79.6 79.9 80.2
BEREEET 78.0 78.1 78.4 78.7 78.9 79.0 79.0 79.2 79.7 80.3 80.6 81.1
A 80.3 80.7 80.8 80.9 81.0 81.2 81.1 81.4 81.9 82.4 82.6 83.0
Kk 75.0 74.8 75.3 75.8 75.8 75.9 75.7 76.2 76.7 77.6 78.0 78.5
SRS 1,217 1,209 1,225 1,240 1,202 1,234 1,225 1,233 1,233 1,216 1,229 1,186

T4 BERRREE. EEFBE FAREREOHE] (285,

E5 FHEICREGIBRESAFHLXOIBOMRICMO LI AEEMMEZ SBE. —HHICHBOERRBENKELLLOH.

Do

BEMBENMESLZHZENDH



TM2E1 AR, THEBNERRERGEREE (MEA—RX)

(BA:%)
(&3] [AA] €33
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100

att 777777 s1a &t V) 880 G 185
00-04#% _ 80.5 00-04%% | 0.0 L eos
05-095% _ 73.8 05-09%% | 0.0 05-095% _ 73.8
10-145% _ 735 10-14i% | 0.0 10-145% _ 735
1510 [ 1510w [ s 15100 [ a1
2020tz | ¢ ¢ 2020 [ ss> 2024 [ s
25-29%% _ 83.4 25297 _ 85.0 25-207% _ 765
sose [ o I - soaa [ s
ssa0ic [ - 3530 I :: o 3530 | a1
soser [ ¢ sosa: I s aoaar I s
sssoi [ s ss0: [ s asa0i | 01
sosai [ s soseii | = so-sai | 199
so0r: I . 550 [ e 5550 | 7o
oy 0 co-ceii N s co-c4ii | 7o
excoi: [ o escoi: [ : 6569 [ 780
70522 b _ 79.7 7080 1 _ 80.5 70581 _ 785

3



& (MEA—X)

=
=]

]

AN
A

B BEMRINREERAER

2

=

Mm2€1A

A
T

(%)

9'68
LL8
'8
018 §
< s
228
L¥8
728
e'8h
L18
9'6Ls
9&L
ges I
6'6L3
818
Les
pes
118 §
908 ¥
608
H.mm
6'SL4
Les I8
628
128
e
e18 §
0es |
062
728
628
0¥8
88
08+
Em
€28
128 B
0¥8
1'e8
€28
€98
778
68
978
898
Le8
Les

TR
I E I
T mE
KRk
AR
lizb S
BRI
EEX
ER D
F R
K=ok
BuEm
Jom
aicius
EIm
g Bmk
i=3uy
R
Lok
fiGiigus
K
L
MR
1] 4Rz
R IR
fEEDK
pbii S
U Bk
TRRIK
FERmE
=
i F mk
SRR
ERER S
ik
R
¥R Hme
HEHPIR
B
KR
ibicius
SRvm
REK
PrRm
Elad s
Hr kg mk
i

T T B e Oite

100 1~

o
@

tZ{T-oTWL% (T, ELC),

EOF%

-

ARIZE BT

T 6 MENREMOFERINSIE. MAENLSEZ(TT1=



By BMEMRIRRERGEREE (BEA~A—R)
[(AA]

168
6'88
9'98
028
98 :
0'F8
798
198
608
9'e8
9:08
Pl
878 [
L1g
0'%8
o8
cog
128
£'e8
88 3
&R
tos
08
oes
vp8
zes e
0'¥8
e
6’18
678 [
978
88
9'e8
zz8
6L
7P8
£F8
098 :
8'F8
878
678
698 :
9'¢8 .
€98
¢'18
878 [
res e

(%)

100 A

EE
IR BT
Em
KRm
R
I ¥ me
ERifuc
EE D
HIE R mE
ey
Kr=mk
BEm
Jom
BT
[EE S
13 o
QulcfEquiy
ERdx
Hemy mk
(i
KXz
et
ERugusy
1]y me
gy
$RE DK
Bgmk
I iy mk
IR
o
N =mk
B m
Euigucs
F=m
Kk
K¢
RH I
fgiipguiy
Bgm
KB
BB mk
SIRm
THDK
riRme
Fahm
Hr ok
=g

0'cS mERE R

=
°¢]



> HERRIREERAERES (HEA—X)
[(RHR]

4

=3

Z

2N
A

Mm2€1A

AN
T

(%)

R i mg
Rk CuS
KRm
M
IERE K
iz R mk
e iy
=k
gk
Jom
VLY MR
Eao
g Bmk
1B & mk

Zisdm
9LL o mk
et
oL K
eLLS kil
: R
1] e mk
gy
Batmk
Jigiinguiy
0G4, IRm
8LLS IEHmE
o=
BT ok

Eik=mk
Bixk
R mk
LS
PP
LS8 Qu S
KR
REgEmk
IRvmk
XHEDK
ok
Eldiin S
Hr g mk
T

€18
gLLS
66L
4'6L
0°6L
€18
608
0°6L
ves
18
18
778
8¢8
T8
¢18

100 -

o (=] (=] o (=]
[°3) © < N



